Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q1. Group of monuments in Mahabalipuram, Tamil Nadu were constructed by the
kings.

A. Chalukya B. Pallava

C. Pandya D. Chola

Q1. AATATZ F HETHIRH X TARHI F WHg FT fasior T3t A fam A
A. areEFT B. Yeold

C. gsar D. It

Q2. Which of the following schemes allows a person, who had been an Indian citizen, to
hold dual citizenship?

A. Overseas Citizen of India (OCI) B. Person of Indian Origin (PIO)
C. Non-Resident of India (NRI) D. Non-Resident Ordinary (NRO)

Q2. Frafaf@a # ¥ wia & Ao, v =afFa 7Y, N vF HRAT ARF o, A ARFAT W@ A gAY A
22

A. 3raede fadaTe 3w sf3ar (31 & 31m$) B. T8 3T 333« 3RS (F 375 31)
C. AT-IarsT 3w 3331 (T IR 31MS) D. Afe-3fase 3nfEerdy (vat 3m 37)

Q3. Mettur dam is in

A. Kerala B. Karnataka

C. Tamil Nadu D. Andhra Pradesh

Q3. A aiY #E

A. I B. eilcah

C. affer g D. 31Ter geRr

Q4. The schedule of the Indian Constitution has the list of States and Union
Territories.

A. Twelfth B. First

C. Third D. Seventh

September 15, 2017 Page 1 of 27



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q4. R FiwTT Hpq # Teat 3R F enfia sl A g R
A. SREar B. Ugell
C. dradr D. drddr

Q5. In historical period, Haryana was situated on the banks of which river?

A. Saraswati B. Yamuna
C. Ganga D. Godavari
Q5. e+ F1er &, gRAON fFE 7 F de W fya 91?

A. TIEICT B. T

C. 31am D. aigra’r

Q6. Who amongst the following was arrested for taking part in 'Quit India Movement'?

A. Rao Gopal Dev B. Chaudhary Devi Lal
C. Sir Chotu Ram D. Pandit Neki Ram

Q6. 'HRA BT e H AT & fav RAFafaf@a &  FY fRear fFar T a1?
A. T el & B. Tlerdy &t ofrer

C. T BIg IH D. df3d aehr I

Q7. Indian National Congress (INC) was formed in

A. 1805 B. 1855
C. 1885 D. 1875
Q7. #RAT W FEE (INC) &7 5T & R I |
A. 1805 B. 1855
C. 1885 D. 1875

Q8. Where is Maharshi Dayanand Vishwavidhyalaya established?
A. Sirsa B. Rohtak

C. Sonepat D. Gurugram
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Q8. 7l gurig fRafagaTey A FUT9=T Far Hr 7§ §?

A. fazar B. Vs

C. diefad D. &IH

Q9. 2017 Surajkund Mela is known as because all stakeholders have been
provided option for cashless transaction.

A. Suraj Mela B. Cashless Mela

C. Kund Mela D. Crafting Mela

Q9. 2017 {IFs AaT & A @ ST 1T ¢ FifF Tt RAuns! Ft awe Wa AaeaT F=
e g e I §

A. IS Hell B. Shererd Hell

C. &3 A D. SITEaT Hell

Q10. Haryana has invited all Facebook and Twitter users to interact with the

A. Chief Minister of Haryana B. Governor of Haryana

C. DSP of Haryana D. Chief of Cyber Cell

Q10. R & wft g I e gerd 7 & WY aradid FX & v smaAfa R gl
A. RO & FEgHA B. Rz & T=adrer

C. gRamom & r.ug. 9y D. WIEsR Al & YT

Q11. Haryana government bans consumption of at public places.
A. Cigarette B. Tea

C. Liquor D. Coffee

Q11. RN THR A FEATAF FTIET W it ¥ gfarer o9 R g1

A. FRe B. I

C. & D. &ithr
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Q12. "Pradhan Mantri Suraksha Bima Yojana" implemented by Haryana Government gives
insurance cover to residents in the age group of

A. 21-70 years B. 21-65 years

C. 18-60 years D. 18-70 years

Q12. gRATUT TR EIRT A "qeutear HaAY FRat <A e #1 31y T F AT F AT FaX @
el B

A.21-70 @y B. 21-65aw

C. 18-60 a¥ D. 18-70 a¥

Q13. The Chief Minister of Haryana has launched the mobile application to
provide information about 250 schemes and programs of 30 different departments.

A. e-mitra B. e-sewa

C. e-program D. e-development

Q13. RO ¥ FEwe A 30 faffer fsmet # 250 ANeEnst AR FEFAT F R F FEER & F AT
Ararger vitaser dtea fmar g

A. S -fAT B. &-@ar
C. -9 D. §-3ad9HC

Q14. Which two organizations will jointly inspect the oldest civilization site in Fatehabad
district of Haryana?

A. Central Bureau of Investigation (CBI) and B. Archaeological Department and Historical

Historical Department Department

C. Central Bureau of Investigation (CBI) and D. National Aeronautics and Space Administration

Indian Space Research Organization (ISRO) (NASA) and Indian Space Research Organization
(ISRO)

Q14. Fia & &Y Wrsa HYFA T { RATIN & Halerarg fora F Fad Qi wo=rar 1 wrse Fr Adaror F3?
A. FE ST s (Y & 3m$) 3R efeae fawmer B. quidea fsmar 3R ofoerfaen fasmmer

C. T STTa s (F & 3m$) 3R AT 3iaRer D. T WRIAIfeHd U8 TIF TSfATAEe () 3R
AT HITSeT (SE) SR 37ARET HTHUT HaToeT (SERY)
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Q15. Who amongst the following has contributed to Haryanvi comic poetry?

A. Baje Bhagat B. Surendra Sharma
C. Rajiv Lather D. Ali Baksh

Q15. AFfaf@a & ¥ fFuer e g7 Ffaar & 9= ArerT T ¥?

A. STt 3T B. gig u#AT

C. Trsitg o D. 37el &

Q16. Majjhima Nikaya and Divyavadana are literature.
A. Buddhist B. Hindu

C. Sufi D. Islamic

Q16. ATfsTaAT AT 3 Regaean aifeea €

A. dlg B. &g

C. ghr D. gEaIer

Q17. Which award did Ashok Bhatia get for his book 'Samudra ka Sansar'?

A. Haryana Literature Award B. Sahitya Award

C. National Literature Award D. Haryana Hindi Sahitya Academy Award

Q17. 3reliw AT Y 9l Tas "WHG FT §OR' & fAT Fla 71 (R FAar?
A. gRamoT wifger TR B. @1fgcd &R
C. T¢Iy ER D. gRarom fger Anfgcar 3repreat TEhR

Q18. Hemraj Nirgam wrote

A. Pachrangi B. Prithviraj Raso
C. Seep Ka Moti D. Jadufiri

Q18. et foetar & T #1

A. gl B. RISt I8

C. €9 & #Hrelr D. sgfhlr
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Q19. Which is the smallest district of Haryana in terms of area?
A. Panchkula B. Bhiwani

C. Ambala D. Gurgaon

Q19. AP F¥ TR ¥ FRATUN w1 @ SeT fore wier 71 82

A. Fagell B. f¥amir

C. 3rFaTer D. I[zaTid

Q20. Which of these minerals is NOT found in Haryana?
A. Tungsten B. Limestone

C. Manganese D. Slate
Q20. RO # 37 & T T WA AT SATAT B2
A. Earees B. T&T 9

C. Haslst D. ¥l

Q21. The most popular irrigation system in Haryana is

A. Tube well irrigation B. Tank Water irrigation
C. Inundation Irrigation D. Canal irrigation
Q21. R i ged AwT R yomeh g

A. TIF 3o & g B. & & ST & =S

C. 3Tcelaet s D. =feX fiars

Q22. Sahibi river originates in which of the following districts?

A. Rohtak B. Sirsa

C. Sikar D. Yamunanagar
Q22. wifge 7 FFafaf@a # ¥ fFw o & Awerd #2

A. Agds B. f&zar

C. f@sr D. IHARTIR
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Q23. Which dam is based on hydraulic engineering and is known as Gravity Dam?

A. Damdama Lake B. Badkhal lake

C. Hathnikund D. Anagpur Dam

Q23. Fi @1 it grERfAw sfaaRer v maRa ¥ 3 AR 87 F arer I S Sar 2
A. SHCHT 3T B. Seehel 3iTeT

C. g¥eliss D. 37TIIqR STET

Q24. Indian constitution came into force on

A. 15t August 1950 B. 26t January 1947
C. 26 January 1950 D. 15t August 1947
Q24. sy wiera Y |1 F3T ATl

A. 15 37T&d 1950 B. 26 STl 1947

C. 26 Sieladr 1950 D. 15 319T&d 1947

Q25. Which state of Indian Union has a separate constitution?

A. Haryana B. Jammu and Kashmir
C. Kerala D. Sikkim

Q25. WA Tg & fFy T H v 3rer9r Ay §?

A. g B. o1& 3R e

C. &l D. fafena

Q26. Who is the Leader of Opposition in the Haryana Assembly?

A. Shri Ajay Chautala B. Shri Charanjeet Singh Rori
C. Shri Dushyant Chautala D. Shri Abhay Singh Chautala
Q26. gRITON FeawsT A AaT F Aar HieT 82

A. Y 311 Tierer B. 4t TRursiia &g I

C. it gsad Htererm D. 4t 3179 g ieren
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Q27. What is the average temperature of Haryana in summers?

A. 30°C B. 35°C
C. 40°C D. 38°C
Q27. Frvw g # g F1 3w argATeT Rrcer gar 82

A. 30°C B. 35°C
C. 40°C D. 38°C

Q28. Which is the most cultivated spice in Haryana?
A. Coriander B. Garlic

C. Fenugreek D. Chilli
Q28. g ¥ Fad 30w fre AT A G g 2

A. afaar B. g
C. #HfY D. g

Q29. What is the famous name of Murrah buffalo in Haryana?
A. Black Gold B. Kala Dhan
C. Gold Carat D. Kala Prashadan

Q29. gRaron # 3 dta F1 9fg e FAT 7?2
A. HTT Qi=TT B. el &1

C. Mes D. Il YR

Q30. Pick the odd one out:

Eyes, Ears, Tongue, Nose, Mouth

od)

A. Tongue . Eyes

C. Nose

O

. Mouth
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Q30. JHIA FT IIA H|

I, F1l, S8, AT, T
A. SieT B. 3®

C. 5 D. H8

Q31. Find the analogy.

CEGI: DFHJ::EGIK: ?

A. FHIL B. HILM
C. IGH] D. HGDJ
Q31. HAAAT E&

CEGI: DFHJ::EGIK: ?

A. FHIL B. HILM
C. IGH] D. HGDJ

Q32. What should come at the place of question mark (?) in the following number series?
5,11, 23,43, ?, 115

A. 68 B. 73
C. 85 D. 97

Q32. farafaf@a Fear sf@an # wear et (?) F T W 47 g A1ew?
5,11, 23, 43, ?, 115

A. 68 B. 73
C. 85 D. 97

Q33. If in a coding scheme, NINE is written as 42, how TEN is coded?
A. 24 B. 36

C. 40 D. 39

Q33. Ts FI3 41T # IS NINE #T 42 @r Srar § af TEN ) 1 fora sireen?

A. 24 B. 36

C. 40 D. 39
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3244=+22412= _ +5246-+7-
Q34. 2z z 2 2 2 2 2
A. 12/2 B. 13/2
C. 14/2 D. 15/2
3=+4-+2-+1-= _ +5-+6-+7=
Q34. z 2 2 2 2 2 2
A. 12/2 B. 13/2
C. 14/2 D. 15/2

Q35. An event has a probability of 24 /25. Therefore, the event is

A. cannot occur B. likely to occur

C. less likely to occur D. will always occur

Q35. TF HeaT F ot Y HTGAT 24/ 25 §1 38T, gear I

A. g g€ Fhdl & B. € Ohdl ¢
C. Tcal & FF THTIT & D. gH2I Tl
Q36. 0.00098 = %

A. 0.098 B. 0.98
C.1.98 D. 1.098
Q36. 0.00098 = %

A. 0.098 B. 0.98
C.1.98 D. 1.098

Q37. Deepa bought 2 dozen pencils for Rs.100. She distributed 10 pencils. She sold the
remaining pencils for a loss of Rs.5. At what price did she sell each pencil?

A. Rs. 6.78 B. Rs. 5.25
C. Rs. 8.45 D. Rs. 7.50

Q37. T & 100 T9A H 2 Foier 4f¥el @I 3w 10 A die & 37 Ty ARy 1 5 A F Fhw A I
feam 3w wAw IR F fraa F a=r?

A. 6.78 30 B. 5.25 39
C. 8.45 31 D. 7.50 39
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Q38. is the synonym of "DETERMINED".

A. Kind B. Brave
C. Firm D. Angry
Q39. is the antonym of "BENEFIT".

A. Gain B. Loss
C. Help D. Favour

Q40. Identify the meaning of the idiom.
"By hook or by crook."

A. Without permission B. Stolen

C. Acceptance D. By fair or foul means

Q41. Sentence given below may contain one or more mistakes. Identify the correct
sentence.
"The team complete their task just when the judge walked in."

A. The team was completed with their task when B. The team completed their task just when the
the judge walked in. judge walked in.

C. The team have completed their task when the  D. The team has completed their task while the
judge walks in. judge walked in.

Q42. Complete the sentence by choosing the correct word from the options.

The army the attempt of the invaders.
A. foiled B. promoted
C. continued D. closed

Q43. Which of the following is not emitted by radioactive substances?

A. Beta rays B. Gamma rays
C. Incident rays D. Alpha rays
Q43. At weryt § 7 7t e 82

A. drer fTor B. amaAT ot

C. 3Yfee fehgor D. 3o faor
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Q44. The mixture of sand and water can be separated by the process of

A. Evaporation B. Condensation
C. Filtration D. Precipitation
Q44. are 3R aTelt & AT Hr & ufehar g@rr 3rerer AT ST W ¢
A. arsdiIoT B. TEeld

C. fedesT D. g¥or

Q45. Human cell consists of chromosomes.

A. 44 B. 46

C. 22 D. 23

Q45. AT MRAFTH FaAEH &

A. 44 B. 46

C. 22 D. 23

Q46. % Uec FT TATIATH 2reg TdA=Y |

gaor
A. 3TSaT B. eRTHT
C. e D. 3¢&

Q47. faw= arsg &1 Al (Rehe) aref sarsy |

qom

[

A. GFATT B. W&RR
C. §THTGT D. 9H

September 15, 2017
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Q48. ) ford FygraY #1 37w e gAY |

FIAT HTeT T o gl

A. FT T ST o Tgdal B. frdY &1 871k G T UsaTT
C. HST A o 3T D. SgT gl

Q49. = fad ereq FT aga™=l = |

faerelt

A. faaferar B. fadenar

C. fadferar D. faaferar

Q50. A f@ ersg FT vFaaa T |

Euce

A. =i B. =@meiar

C. arfear D. el

Q51. Fundamental accounting assumption is

A. Materiality B. Business entity
C. Going concern D. Dual aspect
Q51. TR ATieheT HTUROT Tl

A. &itfaerar B. RIS F&ca

C. @fthg 3R efrersie aaary D. & Uge]

Q52. A company cannot issue redeemable preference shares for a period exceeding

A. 6 years B. 7 years
C. 20 years D. 25 years
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Q52. T HYel T 3¥F 3 & AT yiaeT e A9 S 7€ FT FFdh |
A. 6 a¥ B. 7 ay¥
C. 20 Iy D. 25 a¥

Q53. Which of the following is not a sub-field of accounting?

A. Management accounting B. Cost accounting
C. Financial accounting D. Book-keeping
Q53. 3IH ¥ FiT AT AFeT AW FT 39-8F 7T &2

A. UST ordieheT B. et or@ichel

C. [acda @it D. EdqTelet

gl

Q54. Cash from operations is equal to

A. Net profit plus increase in outstanding B. Net profit plus increase in debtors
expenses

C. Net profit plus increase in stock D. Net profit plus increase in investments
Q54. YuTd=T & dAHar FAAE |

A. SIacT ST TUT ST AT H TEra B. fade o1e1 T SoeRT 7 Selaly

C. fAae o qUT Tidh H Frealr D. foidel orst T foider # sy

Q55. If cost of goods sold is Rs.80,700, opening stock is Rs.5,800 and closing stock is
Rs.6000, then the amount of purchase will be .

A. Rs.80,500 B. Rs.74,900

C. Rs.74,700 D. Rs.80,900

Q55. IfY I T ATT A APIT F. 80,700, IRHAF Fiw 5. 5,800 3R 3ifa#w FeiF 3. 6000 &, aY w7 i Al
gralt |

A. %.80,500 B. %.74,900

C. %.74,700 D. %.80,900
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Q56. W Ltd. issued 20,000, 8% debentures of Rs.10 each at par, which are redeemable
after 5 years at a premium of 20%. The amount of loss on redemption of debentures to be
written off every year will be

A. Rs. 40,000 B. Rs.10,000
C. Rs.20,000 D. Rs.8,000

Q56. W fafits & 10 T93 & ¥HAeT W 20,000, 8% RBawRi ar fw, At 20% wifdgswr w 5 aut &
gfaea ¥ | Bl 9y W g f IR Y v AF a¥ aF @ # sl Jean, ol

A. %.40,000 B. ¥.10,000

C. ¥.20,000 D. ¥.8,000

Q57. A company forfeited 2,000 shares of Rs.10 each (which were issued at par) held by
Mr. John for non-payment of allotment money of Rs.4 per share. The called-up value per
share was Rs.9. On forfeiture, the amount debited to share capital will be

A. Rs.10,000 B. Rs.8,000
C. Rs.2,000 D. Rs.18,000

Q57. TF FUelt A T. 4 Wi A Y JTaieT AR FT AT o F & AT st siter garT o &, 10 73+ (g
FHATT W AR f53m 7 4m) F 2,000 AR F FHGEA FI T | 9y A AT 7T HET T 9 AT | FHIEOT T,
AR Gt T A B aRr gt |

A. %.10,000 B. %.8,000

C. %.2,000 D. ¥.18,000

Q58. Bank reconciliation statement is prepared with the help of

A. Bank statement B. Bank statement and bank column of the cash
book

C. Bank statement and cash column of the cash D. Bank column of the cash book and cash column

book of the cash book

Q58. dF gAY faver N A ¥ AR FFAT ATAT R |

A. S faaor B. S fqavor aur Ahs sgY 1 dF Hrerd

C. d% fqaror T AFhs &Y FT AFHS Pl D. ks FEY FT Soh Dol AT NS TG T AHS Ploled
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Q59. In fire insurance % of premium income is carried forward as provision for and
the balance is transferred to profit and loss account.

A. 50 B. 100

C. 25 D.0

Q59. 3T o & fifdTs 3mx &t % YTaYT F fAT M oF ST AT § 30 99 FY 137 T gifer @a #
IaRa Farsar |

A. 50 B. 100

C. 25 D.0

Q60. Accounting standards in India are issued by

A. Central Government B. State Government

C. Institute of Chartered Accountants of India D. Reserve Bank of India
Q60. RA # @1 AAF ZanT Y e S §

A. FEIT TR B. T &N

C. AR FACT SR G D. AR Rerd i

Q61. Which of the following categories is included in generally accepted auditing
standards?

A. Standards of review B. Standards of planning
C. Standards of evidence D. Standards of field work
Q61. AHTA: FFd J@T qiaT AH! # o1 § B ao1 A anforer fram smam 82

A. FHIET & HleTh B. IISTTT & ATh

C. |1eg & Hleleh D. 817 &1 & Alh

Q62. Which of the following is an inherent limitation in internal control?

A. Incompatible duties B. Lack of an audit committee
C. Lack of segregation of duties D. Faulty human judgement
Q62. sd ¥ FisT 71 Revey AR Hgaor # ve safifea aRdfiwa §2

A. 3EHIT Fied B. oi@r wlietr |fAT &1 3r3ra

C. Shcfedl & GUEHIVT T AT D. gyt Ay Aoty
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Q63. If the amount is posted in the wrong account or it is written on the wrong side of the
account, it is called

A. Error of omission B. Error of commission

C. Error of principle D. Compensating error

Q63. I et TR F1 Irad Wik A 3167 AT AT § A7 3@ AW & I vaT H @ Arar @, av 5@ FEd &
|

A. g B. el T 3fe

C. fagid #r 3fe D. wfaqRa e

Q64. An auditors engagement letter most likely would include a statement that

A. Lists potential significant deficiencies B. Explain the analytical procedures that the
discovered during the prior year's audit auditor expects to apply

C. Describes the auditors responsibility to D. Limits the auditor's responsibility to detect
evaluate going concern issue errors and fraud

Q64. TF AW WIeTF & A 99 # 30 Fua F afAer fhv e v g afw e fF I

A. 98 & a¥ & or@r qdeT & eI ¢dT 3 Fenfad B. AeawurcHs Uishan3it it sarear fSieg orar adets
SoEeT HIAGAT T TG HeT T AT TR §

C. |fhT T dI1YE STGHT & HIHA I Hodichel it & D. AT AT HYCYT 1l ST Tl Mol & o @ giefn
TIT orEm 98T & ScdRelfAed ol aiuTel & 3ccRaldcd d AfAT YT

Q65. Which of the following errors are not revealed by the trial balance?

A. Compensating errors B. Errors of commission

C. Wrong balancing of an account D. Wrong totaling of an account
Q65. 73 ¥ FiT # IR Av-waTor gERT A AL et §2

A. gfaqge Ffear B. a#TereT 1 Afear

C. @I & eI HJele D. @Td &7 ITeld JET

September 15, 2017 Page 17 of 27



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q66. An auditor should consider which of the following when evaluating the ability of a
company to continue as a going concern?

A. Audit fees B. Future assurance service

C. Management's plans for disposal of assets D. A lawsuit for which judgement is not
anticipated for 18 months

Q66. T UF ATHIG STTATT AN T&A Y FeAl Y &THAT FT Aed el I GAT TF o @1 87w F a0 @ fvw
W AR F=r aifge?
A. oI qYET Yeh B. #TdY 3TRaTdT Tam

C. gufed & fAuer & o yaee & st D. are, foraeT v 18 Fglr & fow JeanfRia 481 &

Q67. An auditor who is unable to form an opinion on a new client's opening inventory
balances may issue an unqualified opinion on the current year's

A. Income statement only B. Statement of cash flows only

C. Balance sheet only D. Statement of shareholder's equity only

Q67. AWT TdETF ST TF AT Agh & IRIAF arqqe A W O a7 7@ # 3 ¢, arqa’¥ &
W 377é AR g FaFaT ¥ |

A. hael 3T T faavor B. hdel sTehay TTed &1 faaxor
C. hael Jelel-g7 D. hael AIIURT T AT fdazoT

Q68. Obtaining an understanding of an internal control involves evaluating the design of the
control and determining whether the control has been

A. Implemented B. Monitored

C. Authorized D. Tested

Q68. 3TaRe f=or i Fasr e FI # AIA0T F FRTFeT FT Aediae F3 au1 T§ AU Fwem anfae & =
G AT @Y AT ¥ |

A. FRITTad B. f9RTY
C. yrfereha D. wifard

Q69. Which one of the following is not the objective of cost accounting?
A. To determine selling price B. To ascertain profit of each activity

C. To help in organizing D. To control cost
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Q69. 55 ¥ FIT AR AWIHA HT 337 AGT ¢ ?
A. R fraa FeRa Feer B. Ak T &1 oI ATARATTT HLar
C. 3T el H HEg el D. drTd [Rafa e

Q70. Cost sheet simply refers to statement of the cost of

A. Goods produced B. Raw materials

C. Goods sold D. Goods manufactured and sold
Q70. dTTd I9F # AT FT 0T AT FAATAT R |

A. 3catfed Arer B. &ear ATel

C. 99 91T AT D. fAfda 3k o2 71w A

Q71. Prime cost - Rs.51,000, works overheads - 20% on prime cost, administrative
overheads - 10% on works cost, selling overhead - 5% on cost of production. Calculate cost
of sale.

A. Rs.61,200 B. Rs.67,230
C. Rs.70,686 D. Rs.71,700

Q71. { A9 - T. 51,000, FFH FWRITT A a0 W 20%, TATHAF FIHTT FFH d0d W 10%, T
F90IY IcUTE dARTd 9T 5% | T F arrd F1 IRFaaT I

A. %.61,200 B. %.67,230

C. %.70,686 D. %.71,700

Q72. Sunk cost means

A. Alternative cost B. Cost incurred in past

C. Cost actually incurred D. Cost of finished products
Q72. gt AT 1 7 § -

A. dfouss dmerd B. faera # 3uerd @rerd

C. IFaq H 39T AT D. TR 3curar & T
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Q73. The consumption of certain type of ball bearing is 120 pieces per year. The price of
each ball bearing is Rs. 100. If the inventory carrying cost is 20% per annum and the cost
of procurement per order is Rs.20. Calculate the economic order quantity?

A. 10 units B. 12 units
C. 15 units D. 17 units

Q73. T ARTd YR & afer IINT A TIT 120 797 97 I & | T AF dfer SN AT FAT . 100 § | I
TEGHHT Y FgAIT AT wfaad 20% 3R 9 3der yraor A dwera 3. 20 ¥ | 3nfE weer yAEr F1 9o w2

A. 10 ST B. 12 Shr3ar
C. 15 szt D. 17 s&rsar

Q74. The process of material control involves-
A. Issue --> Purchasing --> Receipt --> Storage B. Purchasing --> Receipt --> Storage --> Issue
C. Purchasing --> Storage --> Receipt --> Issue D. Receipt --> Storage --> Purchasing --> Issue

Q74. wrHafY fa=ror A yfiFHAT F AT ghar -
A. 399 --> &g --> wiftd --> 3R B. @llg --> It --> #sK --> 337
C. &g --> #8R --> It --> Y D. 9Tt --> #3R --> &g --> 32

Q75. Which among the following is not a method for measurement of labor turnover?
A. Flux method B. Replacement method

C. Separation method D. Mechanical method

Q75. 3a# @ &l W AR 397 3mad & AGeT Y A 77 22
A. Forgg fafer B. gfazamg fJafer
C. gyayoT fafer D. A%fasa 3

Q76. The method which assumes that the changes in semi-variable costs are caused purely
by variations in output, is

A. Graphic method B. Average method
C. Least square method D. High low method
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Q76. Raftr e 75w Srar ¥ B aref-aRaelt ot # afads Ryg w7 & srseqe # wRad«l & FRoraa €,

_ wgdA g
A. ITHT e B. 3itga fafer
C. &H J31 Ay D. 3=3 fa== 3

Q77. The process of apportionment of overheads of a cost centre to its cost units is termed
as .

A. Allocation of overheads B. Apportionment of overheads

C. Absorption of overhead D. Departmentalization of overhead
Q77. 90T %eg ¥ 3T AT SHISAT & FINTAT & THTSIT $Y IHFAT FY FETATATE |
A. F98TIT &7 A& B. Ul T THTSTT

C. Il &M 3T D. Fudreadt & fasmefietor

Q78. Which among the following amounts is contained in a static budget?

A. Budgeted costs for actual output B. Actual costs for budgeted outputs
C. Budgeted costs for budgeted output D. Actual costs for actual output
Q78. 3d ¥ Fia W ufr Fifas sore & wfA gt 82

A. arEdfash H3eqe & T seifed o B. SSifed 3M3eYe & foIT aredides ST
C. goifed 313eYe & fov deifed omard D. ar&dfdsh 33eYe & foIT aredide dmerd

Q79. The costs which do not involve cash outflow are

A. Imputed costs B. Out of pocket costs
C. Replacement costs D. Conversion costs
Q79. ¥t anTd ST Y afyate anfde gt gar, FgaTe & |

A. Tiosd et B. Geehy ST

C. gfaeumae amerd D. FUIAOT oIl
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Q80. Under inflationary conditions method will show highest value of closing
stock.

A. FIFO B. LIFO

C. Weighted average D. Stores stock level

Q80. Thifasy aRfPufay & RafYr sifaer vl 1 39aaw AFa quiwh |

A. ®IT (FIFO) B. ofi®r (LIFO)

C. s 3| D. TR ¥ TR

Q81. From the following information calculate the cost of production.
Raw material consumed is Rs.30,000, productive wages Rs.18,000, machine hours worked

Rs.900.
Administrative overheads: 20% on works cost, Machine hour rate is Rs.10

A. Rs.57,400 B. Rs.59,800
C. Rs.68,400 D. Rs.64,200

Q81. fArAfafla Fa=r ¥ cuteer aAnTa 1 aRFee FX |

Fed AT FT GIG T. 30,000, 3cUEF Ay T. 18,000, FF T 777 7efier goe 7. 900
g IUTT THA AT W 20%, AN gver X 3. 10

A. ¥.57,400 B. %.59,800

C. %.68,400 D. %.64,200

Q82. Zero-Base Budgeting technique was first introduced by

A. Peter A. Phyrr B. J. Batty

C. Rowland and Harr D. J. Fred Meston
Q82. -3 Folc dohsld e ggol EaART YRH $Y 71§ oAt |

A. dIeX T, HIsX B. o, §gr

C. Uols @am gre D. 3. %3 AEe

Q83. The formula for calculating Idle time variance is
A. Abnormal idle time x Standard mix B. Abnormal idle time x Standard rate

C. Abnormal idle time x Standard time D. Abnormal idle time x Standard yield
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Q83. IWFA FIel IRAAT FT IRFeleT FIt FT BIHAT & -
A. JEHT 39T el X Aol Hag B. A TSI HIel X HIeAdh &

C.WWWXWW D.WWWXW?«I@T

Q84. In which year was Income Tax introduced in India?
A. 1850 B. 1860
C. 1886 D. 1961

Q84. sRa # forw I AT YR gIT?
A. 1850 B. 1860
C. 1886 D. 1961

Q85. The process of identifying where the goods are listed is known as

A. Coding B. Listing

C. Classification D. Categorizing
Q85. AT Fgl Yo §, I§ TgarT= $ ufFaT F FET A |
A. HISEHIOT B. gfteor

C. aaffetor D. #uftetor

Q86. Canons of taxation are enunciated by

A. Dr. Raja Chelliah B. Hugh Dalton
C. Adam Smith D. Bastable
Q86. FIUA & A garT R ¥ |

A. 3. T Jeazar B. 1% STecl

C. usH feay D. S&ea o

Q87. Which one of the following is taxable as income under the heads "salaries"?
A. Commission received by a full-time director B. Remuneration received by a partner

C. Allowances received by an employee D. Free accommodation given to an employee
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Q87. 5 A FT M T " Aaa” MF FTRANTF T A AT E ?
A. qUTHTToIeh TSRS GarT ST shaiere B. WISIGR @R Ured ariksfae
C. FHHEARY SR yred Hed D. HHURY T T I fe7: ok 3Tare

Q88. One of the primary differences between marginal costing and absorption costing is
regarding the treatment of which of the following?

A. Variable overhead B. Direct material

C. Fixed overhead D. Administration overhead

Q88. W ATea® ATTa-fAROT TUT HTAMOT ARTT-FURor F i v wrafA® 3o §, 98 Peaff@a & 9 Fas
3YYR ¥ Hafd 82

A. IREdl 39T B. YcgeT A

C. R 3eaa D. Temdfa® 3WeaT
Q89. The green revolution is also known as

A. Wheat revolution B. Forest revolution

O

C. Maize revolution . Rice revolution

Q89. sRawifd sy H N s FTaT ¥ -
A.ﬁg“aiﬁr B. asT Sifa
C. HeFaT Hifd D. TTae it

Q90. Which of the following has been specifically established to meet the requirements of
credit of the farmers and villagers?

A. ICICI bank B. Regional Rural Banks

C. State Bank of India D. EXIM Bank

Q90. sa# ¥ ¥ 3% F FuTwaT At 3R Ao F FUR Fath sewal F gl T F P Ay w3
A. 3770378 138, I B. &1 10T o

C. #RT T dh D. UfFe# d&
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Q91. The industrial sector faced the process of retrogression and deceleration during

A. 1950-1965 B. 1990-2005
C. 1980-1995 D. 1965-1980
Q91. 3iie@ P &7 F wemarAa 3R #7d F wfhar 1w & gRer 3 |
A. 1950-1965 B. 1990-2005
C. 1980-1995 D. 1965-1980

Q92. Which year is known as the year of great divide for India's population?

A. 1991 B. 2001
C. 1981 D. 1921
Q92. HRd I TIHEAT & T A eI &1 9§ FA AT ATGT 82
A. 1991 B. 2001
C. 1981 D. 1921

Q93. Mixed income of the self employed means
A. Gross income received by proprietors B. Rent, interest and profit of an enterprise

C. Combined factor payments which are not D. Wages due to family workers
distinguishable

Q93. Tafaafora i AT 3 Fr aref §-
A. EaTHY aRT 9o el 3T B. 3¢ &1 fhram, saret 3R s

C. GFATAT HReh AT [oeral g gl fohar ST Hehel D, IRER & HIHIRT & HROT Hotgdr

Q94. National income differs from net national product at market price by the amount of

A. Current transfers from the rest of the world B. Net indirect taxes

C. National debt interest D. It does not differ

Q94. I 7Y, IR AT W Ager TSET 3curg ¥ TR T AT g § |
A. faRa & 3= Rt & dTe] AT B. fo¥arel wRiaT &Y

C. IS HOT AT D. Ig 3e19T 18T giar

September 15, 2017 Page 25 of 27



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q95. Which is the first order condition for the profit of a firm to be maximum?
A. AC = MR B. MC = MR
C. MR = AR D. AC = AR

Q95. TH FT AT HARdH FA F AT ggell v o FAT 82

A TH = TH IR B. tTH €l = TH 3}

C. TH 3[R = T 3R D.TH = TR

Q96. refers to disposal of public sector's units in equity in the market.
A. Globalization B. Privatization

C. Disinvestment D. Liberalization

Q96. &1 37 FIHRY AT Y sHEAT F TR F wEaT F g FET |

A. JRETHTOT B. fsfieor

C. fafeaer D. 3gRIeh0T

Q97. The price elasticity of demand is defined as the responsiveness of

A. Price to a change in quantity demanded B. Quantity demanded to a change in price
C. Price to a change in income D. Quantity demanded to a change in income
Q97. Hiar #Y AT TATEUAT HY #1 srsyfrarelierar & w9 & afenRa frar smar g |

A. AT T AT T I YA A IRaTA B. H1eT &I 315 FATAT ¥ AT A IRadT

C. AT § 31T # gRad D. H9T HT I JAET A 31T H IR

Q98. Shareholders are treated as creditors for the amounts they paid on the shares they
subscribed to under the -

A. Business entity concept B. Owner's entity concept

C. Conservatism concept D. Cost concept

Q98. IAURHT Y 37 TR F fAT AR AT S1ar & Forw Tl 7 speraret segiar ¥ AR W fvar & Foretawr siererer
3egiel 3UF 3HaeTd R o1 -
A. FRIERT Tdcd ST TTIROT B. ATfole &7 Tdcd JTERUT

C. TTEIUT T 3[GeROT D. deTd 3aYRUT
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Q99. Of most, relevance in deciding as to how or which cost should be assignhed to a
responsibility centre is the degree of which of the following?

A. Avoidability B. Causability

C. Controllability D. Variability

Q99. Iz ARy At # fF TF Feaafica Fow F F4 IFR Fier € AW FHARAT F¥ T ART, FAF F Fhew @y
faseq waifts wia ¥?

A. afgrefrerar B. sRofIar

C. fg=oiar D. gRacigar

Q100. Which one of the following statements is wrong in relation to the relationship
between AC and MC?

A. Both AC and MC are calculated from TC B. If AC falls, MC will rise

C. If AC rises, MC also rises D. For the minimum point of AC, average cost is
equal to marginal cost.

Q100. T.. 3R .. F fiT7 F U F ATHS & 5974 § FIT T FIS Tod &2

A. T. 4. 3R tH. A, S FT IREeeT LAY  FFar Sar B Ife A A PRar §, O tE.E 3w 389w
g

C. If¢ T.dl. W 31 g, df TA. . ff I 3391 D. T8, & getawn feg & faw, sttaa o, daeas
AT & GHATA §
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